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+ Simple Nested-Loops Join

foreach tuple r of of R do
foreach tuple s of S do
ifr ; ==s; then
add <r,s> to result
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» Suppose that there are B buffer pages
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Hash-Join Algorithm (cont’d)

for I=1.
//Build in-memory hash table for R
[lusing h2(r )
foreach tuple rin partition R
read r and insert into hash table
using h2(r ;)
//Scan S
foreach tuple sin partition S
read s and probe table using h2(s
output matching pairs <r,s>

/[Probing phase

k

, and probe for matching R

| do

, tuples
| do
i)

Hash-Join Algorithm

/IPartition R into k partitions
foreach tuple rin R do
read r and add it to buffer page h(r D)
[flush buffer page when it fills

/IPartition S into k partitions
foreach tuple sin S do
read s and add it to buffer page h(s i)
[fflush buffer page when it fills
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